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Hints for TEST:

To list or compare decimals, remember to add a zero to
the end of your decimal.

Example 3.210  3.22

To list or compare fractions, remember use common

denominators. °
Example '% '%
< <3 -5 is bigger than -9
L5 M9 ° °
51567 15° o
Mixed to Improper Improper to Mixed
&
1 (3x6) +1
-3h — Bx6)+1 19 36  @e5=77_ 1
'T;' - 6 - —_- = = Z-——-
S i 0 =
(7x5) = 35 + (1) = 36

Subtracting a Negative

-add the opposite -8€=5)
=-8+5H

=3

To add and subtract fractions you need common denominators

1) I ) 2) o1 32
4 7 3 5
_ =7 ,20 _ = _ 17
28 28 3 b5
_ B _ 35 s
28 15 15
= -86
15
*xx ALWAYS REDUCE 1
WHEN POSSIBLE*** = 5=

15
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Hints for TEST:

To Multiply fractions:

DO NOT use
COMMON
DENOMINATORS

top x top

bottom x bottom

n 16 2) L 402
3 5 3 5
- (-1x6) _ 7 X;E
(3x5) - 375
s = (7x-12)
T 15 (3x5)
then reduce
- 2 = -84
5 15
Question was in mixed so
answer should be in mixed
- 512
*** ALWAYS REDUCE 15
WHEN POSSIBLE*** then reduce
= 53
5

To DIVIDING fractions:

DO NOT use
COMMON
DENOMINATORS

FLIP AND MULTIPLY

n 2.3 2) ple2
7710 4 3
_ 2,10 = Hae2
> X3 43
- (-2x10) -2 3
(7 x 3) 4 5
_ -20 = (21x-3)
T2 (4 x 5)
= 63
20

Question was in mixed so
answer should be in mixed

*** ALWAYS REDUCE = 33
WHEN POSSIBLE*** 20
*as they appear*
BEDMAS
r x i uduUu
apv | d b °
c o s t t
K n i i r
eedp a
t ne | c
t y ¢
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Lesson 3.1: What |s a Rational Number?

1. Which of the following numbers are equal to -7

|

_ _ B

l--':_I 4
ol b
\.I.lul .l.'..

dal in
—

L]

4 B
(5= )

Write the rational number represented by each letter a3 a decimal.

[

A D B c
_7 -1 0

| 2. A--18B:-01,C:086,D:-09 |

3.  Wrte the rational mmmber representsd by each letter as a fraction.

b=
b=
=
=
ha
E 2
ha
=
e
-

4. Order the mumbers from greatest to least. (Explamm how you kmow)
-225,2,-15,-1,09
4 B
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5. Im each pair, which rational mummber is preater? Explain how you know.

a) —7.3, —7.2 ) R 4_

G v) &0
10 10

o 12 -13 d) E= ﬁ

EU\O Y 110 j Eo.%ﬂ - _o.d0

6. Diver A is 2.3 m below z=a level.
Diver B 1z 1.7 m below sea level.

Diver © 15 3.2 m below sea level. / \
6. a)

1o
a) Draw a vertical mumber line to show the location of the divers. 1
B:-1.7
A-23F72
C:-32%7°
14
b} Which diver is farthest from the suwrface? Explam your thmhng\ J

b) Diver C pecause she is farthest fi
e number line
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1.

Lesson 2.2: Adding Rational Numbers

Determine each sum.

31 31
Y 373 P 373

S B | 314
[4+2 4 j 4+ 1

301 30T
t’:} 1_|__j| d:' _1_| _jl

Sarah borrowed $40.25 from her parents for a new sweater. She earns $17.50 for a night of
baby-sitting and gives this to her parents.

a) Write an addition statement to represent this sifuation. @'25 P 17507 —22,?’3

b) How much does Sarah now owe? | Sarah now owes $22 75. I

Determine each zum.

20 I 30 .0
a) 22+ 42| b) —62<| 12|

= | = | E | =1

- .'\- 'L-' _.-'

I_.q,ll=%+;_g

L2 s L g3 (q1)o_51,(_6)__255 (_48)
24, _24-45_-21_ 1 8\ 5) 8 I's) a0\ a0/

10 1 _-255-48_ 303 _ 23
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5. Determine each sum.
a) —36+(-21.19) b) —081+24
€) 078+(-1333) d) 488+(-1226)
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a) --[-32 b) O--3)

Lesson 3.3: Subtracting Rational Numbers
1. Determine each difference.
31 3 /.1
a) -—-- b) 32— 52|
) 4 2 ) 5, °2)
B 33 (g1 18_ 11)_36 [ 55}
4 5\ 2) 5 2) 10 \10)
_36-(-55)_36+55 _91__ 1
10~ 10 10 10
2 1 2 - — p—
) 1-4- d i R, B { 52)_13 [ 8Y)_39 [ 32}
) 7 3(2 323 23_115 16 ) 4 1 3 3 _'.\_251_7_'.‘_5_]_12 L 12.-|
785 7 & 38 35 38-(-32) 39+32 71 _11
5814611 "1z 12 12 12
35 35 35
2. Two climbers leave base camp at the same time. Climber A ascends 20 4 m, while climber B
descends 35 4 m. How far apart are the climbers? Write a subtraction statement using
rational numbers to solve the problem.
204 — (-354) = 55 8, the distance between
the climbers is 55.8 m.
3. Determine each difference.
a) 47-59 b) 094135 c) —43.91-(-944)
A
6. Determine the missing rational number in each addition statement.

h-_lll—-

1 5
_3—=_3=
G G

) T

—2

z ]
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Lesson 3.4: Multiplying Rational Numbers
1. Determine each product.
a) (-1.2)=03

e (1.19)(=13.2)

2. Determine each product.

b) 034 %(-0.5)

¢) (~0.6)% (~0.15)

f ($.63)(-16)

October 02, 2018

d) 00x(-12)

10Y 13Y

3f 5
9 |- 1 (3| 22]

E

th LA

? |

| 13) [ 1307 65 I ‘ |22
I?",I._ R 12

_29)_6867 _,. 7
“12)760 "' '60

the temperature on the morming of November 21st7?

114 +[9x«(-17)]=-39
It was —3.9°C on the moming of Nov_ 21.

3. From November 12th to November 21st, the temperature in Bumaby, B.C. dropped an average of
1.7°C each day. Suppose the temperature on the moming of November 12th was 11 4°C. What was
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L.

Determine each quotient.

Lesson 3.5: Dividing Rational Numbers

a) (-16)=02  bB)(D6=(=3) ol64=(=55) d) (-0.98)=124
Calculate each quotient.
AW 5 (.2
|ﬂ} |_IJ|_| E-I d} E I\. E-I
12 4
T 525,
SRR | [ .
L 4)7U2) 4 10) S0 1o
1 (.10 (a1 (_a )
‘:-] 35 T|h_‘E‘| d} I.‘ ‘gfl-l.‘_d-z-l
1 (1.7 (13 (a3 )10 219)
2% 27175 st e T
2113y 21_ .8 (AN 434
8% LU8) 13 13 | 5)71 19} 95

3. A diver descends 3.2 m in 5 min. What was his average rate of descent in metres per minute?

(-3.2)=5=-064: So,
descent is 0.64 m/min.

the average rate of I

6. Replace each [ | with a rational number to make each equation true.

$=\2%
a) [Jx25=-16

E‘D.Bﬁr} x25=-1 .BJ

15 ®B)= 5
b) (=5.7)=[]=15

E_?);(—aaj -15 j

.S

10
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Lesson 3.6: Order of Operations with Rational Numbers

1. E-valuate.

a) 45+51+17

E_5+5.1 =17=45+3 :?.a

14 [ 1y 25 17

3T
14 _£'|+E _|_E=
37|l 8) 6 5 )
14 23 ( 17)

T 378 | B

.28 23 (17

"6 6 | 5)

28 ( 17)__831_ , 71

\ﬁ*?m 15

b) —5.8-3.1x05

| -58-31x05=-58-155=-735 I

Wom|w | w

wlm =

®|&

e M|@ mlw m

=
RE R
[}
P
B

4

5 1)
D 15|27 |¢|45+
9 ﬁ‘_',l LY
5 (1 T,1 ¢ 1T 2
1§_|.__EE |+|_4—+ _3E|_| +€
a3y 7 T2
"8 |6 ) |4l 278
14 13) [17 (14 2
o | 6) |47\ 4758
_14 ='_E=+|'§=' 2
g | 6)la)75
4 13,8 2
"9 | 6) 165
147 131.8 5
"ol T8 )18
_14 [ 13 45

11
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\
3. A formula for the area of a trapezoid 15 4 :ai ‘ -:C jwhe:re b and ¢ are the lengths of the

%,

parallel sides and g 15 the perpendicular distance between these sides. Use the formula to
determine the area of a trapezoid with: =35 em. b=57cm, c=81cm.

e C iqamn
@|=3.5 %;45:5.9]44.15

The area of the trapezoid is 24.15 cm’.

A=35

|
k8

4. Evaluate this expression. Round the answer to the nearest hundredth.
06x126-51=(—74)-06
(29)=13-(-6.5)

Top: Bottom:
96x12.6-51+(-74)-06 (-2.9)+1.3-(-6.5)
w
PR S,l'(—mq\ 0.6 _ 2.5 — ('(9'5)
(S
1hogit - (@eva)  ~ o8k — 4o
— 2105
Tor ~ botk o
— 12\eS ¢
- 2457

12
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